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Using the tables provided:

RN 09:30 10:00 10:30 11:00 11:30 09:30 10:00 10:30 11:00 11:30

Il 0935 1005 1035 11:05 1135 (LSl 09:40 10:10 1040 - 11:40
N oo:3s 1008 1038 - 11338 [l - 1043 - 1143 -
| Oakworth [SETe T SN U PSP R Y o046 1017 1047 11:17 1147
ey o045 - 1045 1136 1144 [ESGLE 0949 1021 10:50 1121 -
09:55 10:25 10:55 11:26 11:54 09:54 10:226 10:55 11:26 11:54

a) What time does the first bus to Oxenhope leave Keighley?

b) What time does the 2" bus to Keighley leave Oakworth?
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t's way to Oxenhope?

d) What time does the 10:10 from Haworth arrive at Keighley?
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f) How many buses heading for Keighley arrive before 11:007?

i) If you arrive at Keighley bus station at 10:05, how long do you need to wait for the next bus to Oakworth?

j) If you take a return trip from Oakworth to Oxenhope, what is the earliest time you can return to Oakworth?

=] Exam question:
a) Where did you catch a bus from if your journey time was 16 minutes
and you got off at Keighley at 10:26?
Haworth

b) Joe catches the first bus from Keighley. He spends at least 1 hour in Oxenhope
before catching the first available bus to Haworth, what time is his bus to Haworth

due to arrive?
11:40




